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Question 1
Question Type: MultipleChoice

A vSphere operator discovers a storage problem with the following

PDL error message:

Permanently inaccessible device

:naa.6000eb31dffc33a0000000000000063 has no more open connections

What should the operator conclude from this error message?

Options: 
A- A storage device is disconnected, bit it is treated as a transient issue.

B- A storage device has failed and is not expected to become available.

C- A storage device has failed and is expected to become available.

D- A storage device is disconnected, but it can be reconnected by a host

reboot.

Answer: 



B

Question 2
Question Type: MultipleChoice

What is the purpose of an alarm?

Options: 
A- It records user actions or system actions that occur on objects in

vCenter Server or on a host.

B- It notifies about events or conditions that occur with an object on

vCenter Server.

C- It represents system activities that do not complete immediately, such

as migrating a virtual machine.

D- It keeps records of system actions and the frequency at which they

occur.

Answer: 
B



Question 3
Question Type: MultipleChoice

An administrator notices a virtual machine named vm01 is missing

from the inventory, but the configuration files can be located.

Which file should the administrator click on to register the VM?

Options: 
A- vm01.vmdk

B- vm01.vmsd

C- vm01vmx

D- vm01.nvram

Answer: 
C



Question 4
Question Type: MultipleChoice

Which two block storage protocols are supported on vSphere?

Options: 
A- SAB

B- SMB

C- ISCSI

D- NFSv4.1

E- NFSv3

Answer: 
A, C

Question 5
Question Type: MultipleChoice



What is a benefit of VMware vSphere Storage APIs - Data Protection?

Options: 
A- It enables centralized, off-host. LAN-free backup of vSphere virtual machines.

B- It allows backup of a virtual machine with a backup agent in the guest OS.

C- It increases ESX host resources to do backup processing.

D- It facilitates decentralized, on-host, LAN-free backup of vSphere virtual machines.

Answer: 
A

Question 6
Question Type: MultipleChoice

A vSphere operator finds this error message:

Device or filesystem with identifier [naa.6000eb31dffdc33a000000000000002a] has entered the All Paths Down state.



What should the operator conclude from this error message?

Options: 
A- A host Is Inaccessible, and migration of affected VMs is expected.

B- A host failed, and automated recovery of affected VMs Is expected.

C- A storage device has failed and is not expected to become available.

D- A storage device is inaccessible and is expected to become available.

Answer: 
D
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